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FAAEE ABCD oA AE BESH A DF - A E D

7} /B &} /D o] o)SB M W], [BFD ] 2 X60°
71=9
B T C

@® 60° @ 80° ® 100°

@)120° ® 140°

A}ZHE ABCD 7} AP o] B2 /BAD + /ABC = 180°
/ABC = 2/EBF ©|2& /EBF = 60° ©]t}.

A2+ BFDE = HajAtHEo|2 2 /EBF + /BFD = 180°
.. /BFD = 120°




o2 199 pABCD &= HPAPHT o] 11
AD = 2AB, FD = DC = CE °]t}. AE ¢}
BF O @S Pt & o, /APB 9] 27|&
Tshof et

[ 2
[> Heh: 90°

(BAP = /AEF (9Z}) 0|1, AD = DE |22 /AED = (EAG
ojtt,

¥, /ABP = /BFD (%1Zh)o]1, BC = CF °|2& /FBC =
/BFC o]t}

LA+ /B =180° °|E& /ABP + /BAP = 90° |1, /APB =
90° o|tt.
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6. T3> 1"} Zo] AABC 94 DE//BC ¢ |, BD 9] Zo]&?
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8. AABC 9 4Ho]7F180cm2 ]2 BD : DC=1:2,AE: ED=2: 3
A wff, AAEC 9] Ylo]& F-5tofzt.
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48 cm?
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AAEC = = x AADC

X — x AABC
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=1 x 180 = 48(cm?)




